NAME:

VERTEX FORM PRACTICE #2

What is the most likely equation of the parabola {quadratic function) that is
graphed?

The graph of ¥=x" |s shown below. The following equations are vertical and 7.)  Vertex:

\aazazal

horizontal translations of »=x", Use what you have learned about translation of
the vertex of a quadratic function to determine the vertex of the graph of each
equation below. Check your answers on the graphing calculator.

Quadratic Function in Vertex Form:

Rewrite each function. Circle the h value and the k value.

1) y=(x-4y Vertex:
8.) Vertex:

2)  y=(x-47+2 Vertex: —_—
3) y=@E+2)'+5 Vertex: —_—

=(x+3)*~4 .
4)  y=(x+y) Vertex: E—— Quadratic Function in Vertex Form:
5) y={(x+5) Vertex:
6) y=x"-1 Vertex:
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Quadratic Function in Vertex Form: .

Vertex

Vertex
questions. Notice, the only difference in all the equations is the value of a.

Match each equation from items 11 — 15 with its graph in column 2. Be
sure to look at all the equations and compare them before you answer any

Quadratic Function in Vertex Form

9)
10.)



Sketch the graph of each function.

1) y=—(x-4)*+3
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3) y=2(x+3)*-1
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5) y==20x+1)-4
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2) y=—-2(x+2)2+3
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4) y=(x+ 1)2—1
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6) y=—(x-1)"+3
Ay

\erttN

RO§

wY

XY




J SYE TR R T I T ¢ y x\}‘e/({/ﬁ/\{\
> QS
HE x
MK 0 W
9) y=-2(x-3)*-2
[ P [ 3 4 wi%x .
; KOS
:1
Y
MY or Whn
11) y=-2(x+3)*+4 -
T vertex

KOS

xY

WX 0v i in

8) y=2(x+2)*-1

N S VI P

Mok o¢ | Wy

10) yz-;—(x—4)2+4

Ver ek
o
: '3 ON
XU
W\OLX oV VV\-, N
12) y=—(x-3)*-1
s RERVZ429
:i.g A0S
Ky
WM 0 WA




